Broil King.

@
(@)

Broil King

(I I D B B B R R B B B B B B )

A o N AN - o
’"‘Q’o”"‘g’ ;\9@1\9

BARON \

BARON S490 IR
922182
922183

50084-S49EU Rev A 01/20

ﬂ A@WMM@@JJMWW
585 KUMPF DRIVE LIMITED

WATERLOO, ONTARIO, CANADA



AN

HARDWARE INCLUDED A

Y-12865 @WW’ x181 Y-12310 ([mmmw x8 1 $21125 ([mm» X8
Y-29304 {[[mmm X2 | 521235 [[ ol X2 . 521233 % x2
Y-12857 @ x4 1 Y-11551 @m X2 1 Y-12124 .@’ X2
535094 @mmm x1 1 20005-000 () O™ = x
Y-11793 fe) 4
9229-82,83,86 / 9225-82,83,86
$35095 Hﬂﬂﬂﬂﬂﬂm X2 1 S21061 M X2
A TOOLS REQUIRED A
Y-31223 216"
‘Robertson #2 /

Robertson #3




. 4 3

A — ’0 .
N\S2w.e

/9 W B i'....




(4) (o

3

£
S

4










(N [|=F

9

\
/

0

7
\

(4)

10 (4)@%%»




~
(4) (e

11

\ B
[/e-

S
N2
W

N
0 [ b
]
Va - 7
796
)/




@

13

%.I...




15







19




2) (oS

2]

21




A
I ’ 7
‘i E’ VN

O

(”(”}mmmm (1)

1 009,00 |

23




@ YW=y




28
29

30
32
33
34
35
36
38
39
40
41
42a
42b
42c
43
44
45a
46
47
48
49
50
51
55
56
60
61
65
66
67
68
73
74
75
77
80
82
84
85

66005-304
10081-BK630
10571-6
24005-12A
54009-936
52105-374
53139-988
22225-014A
27249-904
52909-104D
52909-104E
52025-304BAR
59005-072IR
59005-073IR
S$13473IR
10111-15A
27905-354
S15508A
50809-957
Y-11990
22002-264
22001-164
22001-768
22001-668
10342-44
25070-93
25070-92
10342-E13
52209-404
52005-281
52005-991
27055-901
52009-901
21035-991
51275-134A
51275-114A
21071-13
21070-13
21109-905
21305-925
51615-235
21039-301
51335-211
57139-13
51639-908
10892-286
10892-287
51239-901
53150-614
53150-654
22009-901
23039-274

DESCRIPTION
LID

NAMEPLATE
HEAT INDICATOR
HANDLE

HANDLE BEZEL
FIREBOX

SHELF BRACKET
COLLECTOR BOX
GREASE SHEILD
BURNER - MAIN

CONTROL COVER
CONTROL ASSEMBLY

HOSE - SIDE BURNER
HOSE

BURNER - ROTISSERIE
ELECTRODE

MANIFOLD - REAR BURNER
NUT HEX

CONTROL BEZEL
CONTROL BEZEL
CONTROL KNOB
CONTROL KNOB
ELECTRONIC IGNITOR
IGNITION BUTTON
IGNITION HARNESS
ELECTRODE
FLAV-R-WAVE ®

GRID — CAST IRON - 162mm
GRID - WARMING RACK
GREASE TRAY

GREASE PAN

GREASE TRAY - RAIL
DOOR - LEFT HAND

DOOR - RIGHT HAND
DOOR HANDLE

HANDLE BEZEL

CABINET - SIDE PANEL
CABINET - REAR PANEL
CABINET - LOWER BASE
TANK BRACKET

MAGNET BRACKET
CONNECTION BRACKET
CASTER BRACKET
CASTER

CASTER - LEVELING

TANK PREVENTION BRACKET
SIDE SHELF

SIDE SHELF - SIDE BURNER
GREASE PAN

GREASE PAN - SUPPORT

922182 922183

KEY #

1

[ O N SO O

a A

N = =2 a2 a NNADBANAO OO AN BRN-D AN A2 adNBAN2 2 aNBANMNAA A O a a o

1

J O Y N N NN

N = =2 a2 a NDNNADBANAO A A AaNBRN-D AN 2 adNBAN2S 2 aNNBANNMPA A A O A a a -

86
87
88
89
92
93
94
95
96
97

98
100
102
103
105
108

110
111
112
113
114
115
116
125
127
128
130
131
134
135
137
140
141
143
151
154
160
169
170
171
173
174
175
177
178
180
181
182
186
187

ITEM #
20390-74
23090-27

23000-253
23001-79
10342-T21
$15517-011
10153-79
10110-74
20153-64
10693-073
10693-079
10153-93
Y-12220
Y-12674
Y-12678
$21362
10693-099
10693-104
$15271

§$15270

$15299

$15263

515256

515287

57039-901EU
Y-12835

S§21125

S21124
Y-12641
$21127S
Y-29304

S$35094

S$35095

Y-12310
Y-12865
Y-11559
Y-11793
$21061

Y-12857
Y-11230

§21235

$21233
10240-20
Y-12124
Y-11551
Y-12222
Y-12223
SP11-25
Y-11231

20005-000
Y-115448
§21242

DESCRIPTION

SIDE BURNER

SIDE BURNER - BODY
SIDE BURNER - COVER
SIDE BURNER GRID
SIDE BURNER ELECTRODE
ELECTRODE

GAS FITTING

GAS TUBE

BURNER ADAPTOR
BURNER ORIFICE

QUICK CONNECT FITTING
GROMMET

BEZEL ADAPTOR

BEZEL STOP

SPRING

REAR BURNER ORIFICE

HANDLE

BALANCE

WASHER

BUSHING
ROTISSERIE ROD

4 PRONG FORK
ROTISSERIE BRACKET
SCREW - #6 X 1/4
SCREW - #8 X 3/8
SCREW - #8 X 1/2
SCREW - SHLDR #8 X 1/2
SCREW - #8-32 X 1/2
SCREW - #10-24 X 3/8
SCREW - #10-24 X 5/8
SCREW - #10-24 X 5/8
SCREW - 1/4-20 X 1/2
SCREW - 1/4-20 X 3/4
SCREW - 1/4-20 X 1
NUT - 1/4-20

WING NUT #10
WASHER

RETAINER CLIP
HINGE PIN

CLIP

DOOR HINGE PIN - TOP
DOOR HINGE COVER
DOOR SCREW
MAGNET

MAGNET - SNAP IN
LID BUMPER

LID BUMPER - ROUND
MATCH LIGHT CHAIN
BURNER SCREW
CLIP

922182 922183

1

A A A A A A A a A

A A A A e

N © 00 N = N = 2 & a a

N N
o N = NQ

-
o N

A A 2N DNDMDNMNNMNDNMNDNMNNMNONND-=2 BN A

1

A A A A A A A A

A A A A A A

N © 00 N = N = 2 & a a

N N
o N = NQ

-
o N

A A 2NN DNMNNMNDNMNDNMNNMNONND-=2 BN A









	Sheet1
	Drawing View7
	Detail View B (1 : 4)
	Drawing View9
	Detail View C (1 : 4)
	Drawing View11
	Drawing View12
	Detail View A (1 : 2.5)
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View19

	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44
	Drawing View47
	Drawing View48

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View7

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 1)
	Drawing View5
	Drawing View7
	Drawing View8

	Sheet1
	Drawing View1
	Drawing View2
	Detail View A (1 : 3)
	Detail View B (1 : 2)
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10
	Drawing View13
	Detail View C (1 : 2)
	Detail View D (1 : 2)

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet1
	Drawing View7
	Detail View B (1 : 4)
	Drawing View9
	Detail View C (1 : 4)
	Drawing View11
	Drawing View12
	Detail View A (1 : 2.5)
	Drawing View15
	Drawing View22
	Drawing View23
	Drawing View24

	Sheet1
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15

	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View8
	Drawing View9
	Detail View E (1 : 7)

	Sheet1
	Drawing View1
	Detail View A (1 : 2.5)
	Detail View B (1 : 2.5)
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7

	Sheet1
	Drawing View5
	Drawing View6
	Detail View D (1 : 4)
	Drawing View9
	Detail View E (2 : 7)
	Detail View F (2 : 7)
	Drawing View12
	Drawing View13

	Sheet1
	Drawing View2
	Detail View K (1 : 2)
	Drawing View14
	Detail View P (1 : 5)
	Drawing View18
	Detail View B (1 : 3)
	Drawing View20

	Sheet1
	Drawing View7
	Drawing View8
	Detail View A (1 : 4)
	Drawing View10
	Drawing View11
	Detail View L (1 : 6)
	Detail View M (1 : 2)
	Detail View N (1 : 2)

	Sheet1
	Drawing View1
	Detail View A (1 : 2)
	Drawing View3
	Drawing View5
	Drawing View10
	Drawing View11
	Detail View F (1 : 2.75)

	Sheet1
	Drawing View1
	Drawing View2
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Drawing View6
	Drawing View9
	Drawing View10
	Drawing View11

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View8
	Drawing View11
	Drawing View12
	Detail View D (2 : 11)

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5
	Drawing View7
	Detail View C (1 : 4)
	Drawing View9
	Drawing View10
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18


